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The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any ten questions: 2x10=20
@~ IS eess Te i 3
a) Ifpistrue and q is false, then what will be the
- truth value of (p . ~q) v ~p?
3 p 1) 28 q WY =W S (p . ~q) v ~p-4
ForeT 232
b) What is meant by the fallacy of undistributed

major? Give an example.
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Whét do you mean by logical constant?
e £ =00 [ @i
Symbolize the following:
- pifandonlyifq
st T e Se w0 ¢
pIMOR @I M g

Distinguish between Categorical and
Hypothetical Syllogism.

Rters T ¢ d5FEE TE T Ay @S |

QI
Express the following by Venn diagram: \

ceqfoea fofas sat:

Some S are non-P.

@ P S-P I

hIf A, B = True and P = False, then what is truth

valueof(ADP)3(~BvP).
Ff A, B = %) @@ @ P = R =7, o ’
(A 5 P) 5 (~Bv P)-a7 ey fHefa e

What do you mean by Tautologous Statement
Form?

. FoTe] I IS (S (@R 2

[2]

i)  Give an example of fallacy of “undistributed
middle term”.

“TRII (@Y I TG Tl e |

j)  What do you mean by existential import?
ISR GG Wi <wie 6 2

k)  What are the laws of thought.?
e @l e e

1) Ifp> (qv ~T) is false theﬁ determine the truth
value of the following: '

(P lprdy
7fw po(qv~1) Mgyt 73, sz fwfife
(p-~a)=(~p.~1)
ﬁl) What do you mean by a hypothetical
proposition? Give an example.
- AR Ibe FECO B RN 2 TR WS | |
n)  Symbolize the following:
effeife e ¢
“It is not the case that, if it’s raining then water
logged and transportation mobilize propérly.”

“que 719 (@ T I 2 OIRCE AR Te SIF @R
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o) What is a complementary term? Give an

example.
SATI5[7F oI I A0 2 TR 7S |
2.  Answer any four questions: 5%x4=20
@~ BTG 2re T wis 3
a) What is analogical argument? Distinguish
between good and bad analogy.

Tt I 5 2 ©itet © s St I g AL

IGET Okl

b) Use truth table method to verify whether the

folloWing propositional forms are tautologous,
. self-contradictory or contingent.

ffeare vaRefe @t Footey @t
o, @I W of Fope A=fe T
3 e 31 3

i) pa[p>(a.~q)]
ii) p=[pv(poq)]

¢) Explain, briefly, different criteria for

appraising analogical argument.

FRCFCA CANRE T Areee ot w1

d) Whatis meant by existential féllacy? Explain

~ with an example.

SR @ <eT0e (IR 2 YRS A
@l | '
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Explain the vindication of Mill's inductive
methods.

Rt SR afoefra rye gt s

Use Venn Diagram to express the following

sentences: ; /
frefie WwAHE edban Tgw Toife
FAE 2
i)  Everything is beautiful.

g T |
ii) Some non-S are not P.

FH @EE-SZT P

Answer any two questions: - 10%2=20

-G b ees Tea e ¢

a)

b)
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What is a 'cause' according to Mill? Discuss,
with an example, Mill's method of

Concomitant Variation. - 4+6

fiera wre, PR I F @R 2 fie 3
eI Ao YBIeTE SEAlbl Feal |
Translate the following arguments into standard
forms of syllogism and test the validity or
invalidity. If any argument is proved as invalid,
name the fallacy with explanation.
24424424424
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i) EAI-4
ii)  AEO-3
iii) Truthful alone are honest and truthful

alone are worthy of respect: so all men

worthy of respect are honest.

@REANG TSN AL O] (SIS
O ARIF oY | IR A& @5
feal e |

iv)  This syllogism can’t but be valid, for it
has three terms like all valid syllogisms.

@3 R S (I Z0S AN A P (3
TEA TS «36 o o Bz |

~ What do you understand by Experimental
method? Explain after Copi, what Mill calls

the Joint Method of Agreement and
Difference?

ARl ST SIS A0S e (AR 2 (P St

0 et <Rt siafs Saizaepiz I
FEN ‘ -
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d)

Use truth table to verify whether the following
propositional forms are tautologous, self-
contradictory or contingent. Give explanation.

5+5

feate Al @b o, m{ﬁs
EICHERI ?ITWTW@WTM 9! e IR IR
A s apime |

i) [p:(p:r)]:[(r:p):(s:p)]

ii) [(p orllgn r)] = [(p vq)D r:|
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